Y [ [ [ [ ][]

]

0 Nome Ryan 1 320x520 44 *Y"G0303

OC) Drawing/Zeichnung 3 D Format
O‘D

Profile/Profil 4 4x13.5 Scale/Mafstab Date 29.05.2023




(A) 3400 (8)

3200
: 3000 '
100 | 2037 575 300 . 100
A Ll
200
o vv_? o
o o o
A o - ‘_>
ol O ‘ wi1z3- o |
S| 55.5x183 S ;-r
G I ~] = ~ g
o
sy
o
& N
S 2
Sg
o
o
o LN
S s g
< ~N ol O -
LN N LN|
LN
rk
LN
o~
No)
®
o
@ I Afji o < j To
] = =

100, . 2912 100
A Ll

Opening and fixed window posiftions can be interchanged.

Positionen fur feststehende Fenster und Fenster zum
Offnen konnen miteinander getauscht werden.

Nome Ryan 1 320x520 44 *Y G0303

™
V
I“f E_E i* (::‘ Ei 24 _ Drawing/Zeichnung Pla n_G ru nd pla n Format A3

Profile/Profil 44)(135 Scale/MaRstab 130 Date 20022023




2980

AT1

2910
2328
17146
1164
582
70
T ATL R
i
P
N
(Ng]
mMm
l—
<
o oS o = 2
< < | v <« < < A
70 / 70 70 70 70 70
5 512 512 512 512
ATL
0o Name Ryan 1 320x520 44 *Y G0303
ha[‘]5324_§ brawing/zeichnune - Eoyndation beams_Lagerholzplan Format A3

Profile/Profil

4.4x13.5

Scale/MaRstab

1:30

Date

20.02.2023




; Model pes| Profile |Length
o5 Ryan 1320x520 4L | (mm) | (mm)
Notice! The gable pieces can be partly pre-assembled!
Please nofice - fhase differ from the description given in the specification list
Achtung! Die Giebelbohlen konnen feilweise schon vormonfiert sein!
Bitfe beachten - diese erscheinen nichf ganz so wie in der Teileliste Beschrieben
004 qDo:g 4912 spare log/Ersatzteile ﬁW]O]O ] L4x135 5200
w01 |, 2 4912 i 1| Lhx122 | 5400
002 | 1 2 i 1| 44x135 | 5400
003 WDO](Q 4912 ‘ Q]O]O 1| 44x135 | 5200
o0 o £912 i 15 | 44x135 | 5200
005 g(:/ 2912 %O 1 L4x135 | 3200
006 m_ ] 1| 4hx135 | 3200
007 & & il 1| L4x135 | 3200
008 100 2912 100 2 | LLx68 | 3200
009 % 2912 %0 1] LLx135 | 3200
010 wDo]oj 2937‘ H T 44x135 | 3087
011 “n il 2 | 4hx135 | 2547
012 &t 2l 13| L4x135 | 2181
013 WDO](; 1862 - T | LLx135 | 2006
01 WDO](; 1862 - L | LLx135 | 2006
015 WDO](; 1862 . 3| 44x135 | 2006
016 e i 2 | 4kx135 | 1528
017 —n 15| L4x135 | 634
018 365 100 2 LLx68 509
019 ) 10 | LL4x135 500
020 T T L | LhLx135 500
021 e 6 | Lhx135 | LbL
027 300 100 Lo| LLx135 | LLL
023 aanal 3| 44x135 | Lik
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
ATY 2 T0xL5 | 4980
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT?2 L TOxL5 | 4LBLO
Kood Ryan 1320x520 44 Mater jal File  Ryan 1320x520 44.dwg Leht 176



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
1/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
44x122

AutoCAD SHX Text
5400

AutoCAD SHX Text
200

AutoCAD SHX Text
4912

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5400

AutoCAD SHX Text
200

AutoCAD SHX Text
4912

AutoCAD SHX Text
200

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
4912

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
4912

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
14

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3081

AutoCAD SHX Text
100

AutoCAD SHX Text
2937

AutoCAD SHX Text
011

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2547

AutoCAD SHX Text
2403

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
13

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2181

AutoCAD SHX Text
100

AutoCAD SHX Text
2037

AutoCAD SHX Text
013

AutoCAD SHX Text
7

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2006

AutoCAD SHX Text
100

AutoCAD SHX Text
1862

AutoCAD SHX Text
014

AutoCAD SHX Text
4

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2006

AutoCAD SHX Text
100

AutoCAD SHX Text
1862

AutoCAD SHX Text
015

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2006

AutoCAD SHX Text
100

AutoCAD SHX Text
1862

AutoCAD SHX Text
016

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1528

AutoCAD SHX Text
1384

AutoCAD SHX Text
100

AutoCAD SHX Text
017

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
634

AutoCAD SHX Text
490

AutoCAD SHX Text
100

AutoCAD SHX Text
018

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
509

AutoCAD SHX Text
365

AutoCAD SHX Text
100

AutoCAD SHX Text
019

AutoCAD SHX Text
10

AutoCAD SHX Text
44x135

AutoCAD SHX Text
500

AutoCAD SHX Text
020

AutoCAD SHX Text
4

AutoCAD SHX Text
44x135

AutoCAD SHX Text
500

AutoCAD SHX Text
021

AutoCAD SHX Text
6

AutoCAD SHX Text
44x135

AutoCAD SHX Text
444

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
022

AutoCAD SHX Text
4

AutoCAD SHX Text
44x135

AutoCAD SHX Text
444

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
023

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
444

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
4

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
5200

AutoCAD SHX Text
100

AutoCAD SHX Text
4912

AutoCAD SHX Text
100

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


5 Model 5 Profile |Lengfh
as Ryan 1320x520 4& | (mm) | (mm)
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATL ‘ 2 TOx4L5 2840
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 1 TOxL5 1485
PURLINS, - PFETTEN
PR - LEiL ) 3| 70x145 | 5400
ROOF BOARDS - DACHBRETTER 2/ /5 k8+1 113x18 3430
FLOOR BOARDS - FUSSBODENBRETTER 2/ /5 bt 113x18 2907
‘ 19
Ceiling mouldings - Deckenleisten é 15%28 | /1 fm
17
Floor mouldings - Fussbodenleisten VA 1840 |
FLA | Eave board - Traufenbrett 18x120 777777772 | 1| 18xa20 | 5636
RLA | Eave board - Traufenbreft 18x95 777772 | 1| 18x95 | 5400
RKL | Eave cover slat - Traufendeckleiste 18x40 72 | 1| 18x60 | 5436
11.8
RLIOT-1| Eave slat - Traufenleiste 18x40 V) 18x40 | e
VLA | Gable board - Giebelbrett 18x120 777777773 | 2| 18x120 | 3448
gﬁ% Gable cover slat - Giebeldeckleiste 18xL40 VA2 18x40 | 3430
UV1 | Mefal bar - Metallstange 210 a )| 6 210 900
uv? Mefal bar - Metallstange @10 Q ) | 2 @10 770
UV3 | Mefal bar - Metallstange @10 a ) |1 210 630
LK Hit black - Schlagholzer @ 3
2N57003 Nails - Nagel 2.5x60 for floor boards - fur Fussbodenbretter <———— |528
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur 0 180
2501 | Dachbreffer
é%@? Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten — wmwmws] | 36
K359 | Screws - Schrauben 3.0x30 for eave slats - fir Traufenleisten | | 24
KR-0 | Screws - Schrauben 3.0x30 for floor mouldings - fur
3003 | Fussbodenleisten |32
KR-0 | Screws - Schrauben 35x45 (3 for eave Boards - fur (|2
3525 | Traufenbretfer
KR-0 | Screws - Schrauben 35x45 (3 for eave cover slats - fur (|1
3526 | Traufendeckleisten
KR-0 | Screws - Schrauben 3.5x45 (3 for gable boards - fur (| 16
3527 | Giebelbrefter
Kood Ryan 1320x520 &4 Mafer jal File  Ryan 1320x520 L& dwg Leht  2/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
2/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
AT4

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1485

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
5400

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
4912

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
48+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3430

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
44+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2907

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
19

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
17

AutoCAD SHX Text
Eave board - Traufenbrett 18x120

AutoCAD SHX Text
1

AutoCAD SHX Text
18x120

AutoCAD SHX Text
5436

AutoCAD SHX Text
RLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Eave board - Traufenbrett 18x95

AutoCAD SHX Text
1

AutoCAD SHX Text
18x95

AutoCAD SHX Text
5400

AutoCAD SHX Text
RLA

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave cover slat - Traufendeckleiste 18x40

AutoCAD SHX Text
1

AutoCAD SHX Text
18x40

AutoCAD SHX Text
5436

AutoCAD SHX Text
RKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
11.8

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
3448

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
2

AutoCAD SHX Text
18x40

AutoCAD SHX Text
3430

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
6

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
770

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
1

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
630

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
528

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
480

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
36

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3526

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave cover slats - für

AutoCAD SHX Text
Traufendeckleisten

AutoCAD SHX Text
12

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
16

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


. Model 5 Profile |Lengfh
as Ryan 1320x520 4& | (mm) | (mm)

KR-0 | Screws - Schrauben 3.5x45 (3 far gable caver slafs - fur

3521 | Giebeldeckleisten — ] 6
5560 | fir Fondamentnotzer oo beans - Uk
KL1 | Threaded rod - Gewindestange M8 L 2000
KL2 | Threaded rod - Gewindestange M8 2 L4
KL3 | Threaded rod - Gewindestange M8 2 55
Nut - Mufter M8 @:l L
Washer - Scheibe M8x24 L
Fxtended nut - Langmutter M8 L

Drive-in nuf - Einschlagmuffer M8

o
o~

Kood Ryan 1320x520 &4 Mafer jal File  Ryan 1320x520 L& dwg Leht  3/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
3/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
36

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
447

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
55

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4


5 Model 5 Profile |Lengfh
as Ryan 1320x520 4& | (mm) | (mm)
WINDOW 555x1830 1
W5-S4LF-0XT-05551830
W123-FT
Tempered glass - Gehartetes Glas
Fixed - Fix
VO‘WH—T Rain deflector - Regenabweiser g 1 36x13k 755
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur (|2
3524 | Tur- und Fensterleisten
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ )
L00T | Regenabweiser
Kood Ryan 1320x520 &4 Mafer jal File  Ryan 1320x520 L& dwg Leht L/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
4/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 555x1830

AutoCAD SHX Text
 W5-S44F-0XT-05551830

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
755

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
2


Model Profile |Lengfh

Pas Ryan 1320x520 4& S om) | tmm)
WINDOW 555x1830 1
W5-S4LP-0XT-05551830
555
W121-PT
/A\/ Right handed - DIN rechts
M Tempered glass - Gehartetes Glas
/\ Opens inside - Offnet innen
=] [
| ||
= [
A
/\ |
| \\
[l
VO‘WH—T Rain deflector - Regenabweiser g 1 36x134 755
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur
3524 | Tir- und Fensterleisten 4| 26
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ )
L00T | Regenabweiser

Kood Ryan 1320x520 &4 Mafer jal File  Ryan 1320x520 L& dwg Leht 5/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
5/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 555x1830

AutoCAD SHX Text
 W5-S44P-0XT-05551830

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
755

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
2


. Model 5 Profile |Lengfh
as Ryan 1320x520 4& | (mm) | (mm)

DOOR 1465x1975 1
D5-D&LR-0XT-14651975

1465

] D202-RT

Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen

1975

01-7 | Raindeflector - Regenabweiser g 1 36x 134 | 1665

KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q
3524 | Tur- und Fensterleisten

KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur L
4007 ﬂ

Regenabweiser

Kood Ryan 1320x520 &4 Mafer jal File  Ryan 1320x520 L& dwg Leht  6/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
6/6

AutoCAD SHX Text
Ryan 1 320x520 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Ryan 1 320x520 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-0XT-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
1665

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
4


5400

H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004
H A1l 004

Wall/wand A T~ [l i) 00 |

2025

Ll 4912 1l
100 L& L4100
| 4956 |

5200

Heme Ryan 1 320x520 44 *“ G0303

Qo
}] Ei ﬂ S {,_} 24 gt‘) Drawing/Zeichnung Wa”/Wand A Format A4

Fofle/frofl 4 4x13.5 | e/mes 1:30 ¢ 13.07.2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


KL1+KL?Z 5400 KLT+KLZ
200 200
Nl [/ OOW
i q1] 004
H {11 003
H 013 019 ] 017
s o 013 o~ 019 Hl] 017
H = INE =11 019 T 017
H 014 020 T 017
H 014 020 T 017
H 015 019 Hl 017 =
TH =1 01 019 B 017 &
[ H 1] 0% r 019 = HI| 017
H 014 020 - H[] 017
H 014 020 ] 017
H 013 019 T 017
it = 03 =1 019 11 017
[ H - 013 ] 019 HI| 017
H 013 019 HT] 017
Wall/Wand B e i 2| 010 i) o
1l 1862 ! 575 | 500 1485 | 490 1l
100 44 4100
<i> 4956 <i>
5200
/WaH Logs
Wandbohlen
Floor Mouldings
ngsbgdeﬂiewgfg
10 \Hoor Boards
Fussbodenbretffer Nome -
o Beane 00 Ryan 1 320x520 44 G0303
Fundamentholzer }] ansa 24‘_[) Drawing/Zeichnung Wa“/Wand B Format A4
Profile/Profil 44)(135 Scale/MaRstab 130 Date 13072023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
010

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


Eaves cover sfrips

Traufendeckleisten
Roof boards

Dachbreffer ™=

Eaves strips
Traufenleisten
Eaves boards
Traufenbretffer

Roof boards
Dachbreftfer
Gable Boards
Traufenbreffer
Eaves strips
Traufenleisten

Rain sftrip / Wasserleiste

Silicon
Siliken

Pay affenfion

fo the posifion
of fhe screws!
Achten Sie auf
die Posifion der
Schrauben!

Wasserleiste

Setfling gap
Senkungs spalf
30-50mm

O DD DO DD DD DD DO DD DO OO D
PN N N
I
(-]

NO
i

I
o
N
N

2L30

UV

2037 |

575 | 300 |

2956

L4100

3200

Qo
han83248

ame Ryan 1 320x520 44

*“ G0303

Drawing/Zeichnung Wa”/Wa nd 1

Format A4

Profile/Profil

4.4x13.5 | scoe/vabsen 1:30

Date

13.07.2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
006

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
016

AutoCAD SHX Text
018

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
Settling gap Senkungs spalt 30-50mm

AutoCAD SHX Text
Silicon Silikon

AutoCAD SHX Text
Rain strip Wasserleiste

AutoCAD SHX Text
Rain strip / Wasserleiste

AutoCAD SHX Text
Pay attention  to the position of the screws! Achten Sie auf die Position der Schrauben!


I
o
S
—J

2L30

2912

2956

L4100

3200

Qo
han83248

ame Ryan 1 320x520 44

*“ G0303

Drawing/Zeichnung Wa”/Wa nd 2

Format A4

Profile/Profil 44)(13 . 5 Scale/MalRstab 1 : 30

Date

13.07.2023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
005

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
011

AutoCAD SHX Text
016

AutoCAD SHX Text
018

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1


